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1 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 451 56.32 | #hllst | 000 ~ 451 1.91 9.67 zh s 100 500 ~ 5.00 56.32 | #hLlst | 500 ~ 500 | 1.91 9.67
9 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 448 5591 | ZH st | 000 ~ 448 | 2.04 10.30 Zh Lt 100 | 500 ~ 550 5591 | Zh st | 500 ~ 550 | 2.04 10.30
3 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 588 7360 | ZnLust | 000 ~ 588 | 1.97 9.98 zh s 100 | 500 ~ 7.40 7360 | Zhblst | 500 ~ 740 1.97 9.98
4 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 258 3398 | #nlust | 000 ~ 258 | 2.59 13.08 zh s 100 | 500 ~ 6.40 3398 | #nUst | 500 ~ 640 | 2.59 13.08
5 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st - -~ - —| Zhs -~ — - - zh s — -~ - —| Zhs -~ — - -
6 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s - -~ - —| Zhs -~ — - - zh s — -~ - —| Zhs -~ — - -
7 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/mM%E#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 0.00 ~ 497 6195 ZHLlUst | 000 ~ 497 | 2.24 11.32 Zh Lt 100 500 ~ 8.00 6195 ZH st | 500 ~ 8.00| 2.24 11.32
8 100kN/ m##8 %% - -~ — —|3mEHBZS — ~ — — —| 100kN/m%E#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 0.00 ~ 6.09 76.40 | U4 | 000 ~ 6.09| 1.86 9.40 zh s 100 500 ~ 7.20 7640 | ZhLlst | 500 ~ 7.20| 1.86 9.40
9 100kN/ m##8 %% - -~ — —|3mEHEZ S — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 6.20 7782 | #hlst | 000 ~ 0.00 [ 1.71 8.62 zh s 100 500 ~ 7.20 7782 | #hbilst | 500 ~ 7.20 | 1.71 8.62
10 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 6.20 7782 | #hLlst | 000 ~ 0.00 | 1.71 8.62 zh s 100 500 ~ 7.20 7782 | #hilst | 500 ~ 7.20 | 1.71 8.62
11 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 6.70 8455 #n U4t | 000 ~ 6.70 | 1.86 9.39 zh s 100 | 500 ~ 8.30 8455 | #hLlst | 500 ~ 830 | 1.86 9.39
12 100kN/ m##8 %% - -~ — —|3mEHEZ S — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 6.70 8455 U4t | 000 ~ 6.70 | 1.86 9.39 zh s 100 | 500 ~ 8.30 8455 | #hLlst | 500 ~ 830 | 1.86 9.39
13 100kN/ m##8 %% - -~ — —|3mEHEZ S — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 6.41 80.72 | #hbLlst | 000 ~ 6.41| 1.80 9.09 zh s 100 | 500 ~ 7.60 80.72 | #hLlst | 500 ~ 7.60| 1.80 9.09
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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